
 
 
 
 
Points A, B, C, and D are collinear and positioned in that order.  Find the Measurement.

1)  BC = x, AD = , CD = x, 
and AB = x.  Find BC.

2)  Find BC if CD = x, AD = x, 
BC = x, and AB = .

3)  AC = x, BC = , BD = x, 
and AD = x.  Find AC.

4)  CD = x, AB = x, AC = , 
and BD = x.  Find BD.

5)  BD = x, AD = x, AC = x, 
and BC = .  Find AC.

6)  Find AC if BC = x, AC = x, 
BD = x, and AD = .

7)  Find CD if BC = x, AB = x, 
CD = x, and AD = .

8)  Find AC if AD = x, BD = , 
AC = x, and BC = x.

9)  Find AD if BC = x, BD = , 
AC = x, and AD = x.

10)  Find BD if AB = x, AC = x, 
BD = x, and CD = .



Answers to 

1)   2)   3)  
4)   5)   6)  
7)   8)   9)  
10)  




